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1. If F(z) = Pt find F'(zx)
() 2% — g — 2 ( .
(2x — 1)2 z correc
/ i 1) (2
(b) 22% + 2z — 6 Fx)e M—)—
(422 4 3)? ( 1)<~\)7'
(©) 8z2 + 2z — 2
(42% — 3)? Lot oax =1 i
222 — 2 + 6 o 7
X =\
(d) (2z — 1)2 C )
212 + 8x — 2 _ 7 xt 9 x-2
(e) 2 _1 2 - -
(2z ) (L)o\)’z"

d
2. Ifz=y2—y+10,y=:v2,andxzt,ﬁnd—zwhentzl.

dt
(a) 2 A (correct)
(b) 0 4z _ dz dY Jx
(c) 42 Jt - Jy F= JE
(((3 1;1 - (2y-1) (2x) (1)

wen B2l = 2=l awnd ‘é:i
dZ - (W) =2
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3. Find an equation of the tangent line to the curve f(z) = 22 + 4 when z = 17

(correct)

(a) y=22+3
(b) y =2z
(c) y=3x+2
(d)y=z+2
() y=—x

4. If f(z) = 2® — 2z, then f is

a) increasing on (1, 00)

W\’\,QV\ ’)(:‘ —_)) “3‘_5
/
Piixy=2x = £7)=1

V-5 = 2(x-)
Y = 1% =510
W= 12 +3

(correct)

(
(b) increasing on (0, o)

)

)
(c) increasing on (—1, 00)
(d) decreasing on (%,oo)
)

(e) decreasing on (—o0,2)

/
f(x)z IR =2 =0
TX =7
A=

g//()():z_'>o W
at - —?(x) Who's th“l‘/‘( W) My

.
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5. For the cost function ¢ = ¢ + 2¢ — 1, the average-cost function is

(a) concave up on (1,00) (correct)
1
(b) concave up on (0, 00) c = % - cp & a—\i
(c) concave up on (0, 2)
(d) concave up on (0,1) b / - 2 T+
(e) concave down on (2, 0) ?
—C—// = i~ —%-3 z ©

4 2
6. Which of the following statements is TRUE for the graph of f(x) = 1132——:1.;2?

(correct)

a) it has a horizontal asymptote at y = 4
b) it has a vertical asymptote at x = 4
c) it has horizontal asymptote at y = 5 and y = 6
) it has no vertical asymptote

)

(e) it has no horizontal asymptote

7
g'fo = —-—-—-——*-""'L(’Y:L & gx
- ,—x_'l'u_z' (%-Z)(X*\)
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2z
7. /:c2 4dx=
(a) ln(a:2 -+ 4) +c (correct)
(b) In|2z| +¢ R
(¢) In(z? +4) — In 22| + ¢ Au = 1x A
@ % 20+ du lul
g e S%dx:j—;‘/”“*c
2x 2+ U 1
(e) In x2+4‘+c =JIn (2 *L\)#C
8. /:L'263$3 d =
33
(a) +c (correct)
) 3
33 .
(b) 3 +c k. 3 ¥
2
(c) €% +¢ dus= 9% on
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9. / (B2 —z+1)dz =
0
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..... '2) 1 2
A M
[% 7*4

s
o
N—r

—~
)

P Y
o
Na? e N’ S’
e = e
DO
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(correct)

10. /:Hwildx: Pn \")t»\\] - An 'C‘H-\\" An \’2."“

= Ane - Anl|

.ol | - & (correct)

= |
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11. Using integration by parts, find / 2z Inz dx
1

2
(a) ¢ ;1 (correct)
(b) 0 Wz dny  dv=x
e +1 - 9t
C we A c‘ﬁt- yE
© S Jus
(d) e* +1 o e €
2 1
(e)e + 2 j ZMXY]"_ A)( - EL/()I)L] vj%@lz
|
| 2 | xt]©
= 61n€-f—£"d)-t’zl\
2 2
\
s € -—-—g-'l’z_
T,
r = €
= Ai@ ‘k“‘.,_"' 2

12. Find the area of the region bounded by the curves y = 22 and y = .

—~~
&
N—r

(correct)
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13. /sin(2:c)d:v= J?L f 2 Sin(tx) dve - -/2'— Cas (llj 4+

(a) —% cos(2x) + ¢

(correct)
I
(b) ~5 sin(2z) + ¢
(c) 2cos(2x) + ¢
(d) 2z cos(2z) + ¢
(e) 2 sin(2z) + ¢
) 5T — 2 . . .
14. Determine / 5 dz by using partial fractions.
2 —z
(a) 2In |:L‘| +3In |z — ll +e (correct)
_ £ N-1
(b) Injz| +In|z —1|+¢ ?}:;,,; _ LS ; ﬁ f_B__'
(c) 5Injz| —Injz — 1| +¢ 764‘” z (a-) £z
(d) —2In|z|+In|z — 1| +¢ . Am,\y.\.Ba.
(e) In|5z — 2|+ In|z? — 2|+ ¢ 2 C2-\)

J— }

%= \3 8 S
vro B -1t 7 (A2

L 2 = 2 An ] €3 An (?f»~‘\ +C
5(’92 - m-b dx

\\
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15. The function f(z) = 32° — 523 has a relative maximum at z =

(a) -1 (correct)
/ o K
(b) 0 e (x)= hxe-Br =o
(c) 2 2t (11-\\ =8
(d) 3 \ \
(©) —4 wse T
! v} !
S | ‘ —
du dz
: _du 7 _dr
16. leen/m—ln u+Vu? —a?| +c, then/ o7 = =
(a) %ln 3z + V922 — 4|+ ¢ (correct)
. Adu = 2 dX
(b)%ln 3z — /922 — 4|+ ¢ W= 3% *
dax i ‘ o
(c) %ln 3x+\/3x2——2 +c L% 8 ""‘“‘b "3 An pA% qx’:ql
\1 BK.B“'U( +C
(d) 3In m+\/3x2—2~+c
(e) %ln 3:1:+\/3x2—2l+c
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17. Let h(z,y,z) = 2*(3y + yz?) then hyy,(1,0,1) =

MASTER

(a) 4 (correct)
(b) O
(C) 3 h = %Z ( 4 ’)f-)

- 1
(d) 1 " - 2z (2%)

2 ”Y .
© \ = I3 t) (2%)
ke \ 01‘3 - L\
ot s\ B e \')‘7?& )

18. If f(z,y) = 10e* + 3y?, find f,(z,y).

(correct)

(a) 6y

(b) 6e”y _ 6
(c) 10ze® + 6y % - J
(d) y

(e) 3y”
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19. If y = tan(7z?), find @
dx

| MASTER

(a) 14z sec ( 2) (correct)
(b) 14sec? (7x?) "
(c) cot? (Ta2) w= FX
(d) 14z cos(14x) CL&L‘ (4
(e) sec?(14x) X )
W= tan (x)
. (=2
Y se.q(7xY
Tx - ()
~
20. Let f(z,y) = 2? + y? — xy. If f has a critical point at (a,b), then a + b =
(a) 0 (correct)
(b) 9 ?x s ’Lx,‘"j =0 = T K:j
(c) 1 -?'A 2 4R =0 D x =124
((d; _; K =2(1) =X
e) — .
= nEe = {0
: ) e
ey Head QO\‘& (Z ’ l

b

axb=0
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